@ Rotatable Top Mounted Kutu igerigi @

90° Angle Joint
A R M E N D U S ( Tepe Montaj Modiilii Kége Cikig ) Product Box Content

SUPPORT ARM & ENCLOSURE SYSTEMS.

TS EN 50085-1
TS EN [EC 61439-1

WARRANTY

2x 'f 3

ARM130.600

Aci civatalarini yuvalarnna takiniz.
gelecek sekilde contayi yerlestiriniz.

2 Sari renkli banti ¢ikariniz. Yapiskan yizeyi iceri
(Insert the angle bolts into their slots and tighten

them.) (Remove the yellow tape. Place the gasket with the adhesive

surface inside)

M8x20 (x2)

www.armendus.com




Profili ok yoninde igeri dogru yerlestiriniz.

(Insert the profile into the coupling as shown in the picture
below. )

M8 x 20 (x2)
Aci Civatasi

AglI ayari icin M8x20 civatalari kullanin.
( Use M8x20 bolts for angle correction.)

Uygulamanizda sarkma yok ise agi civatalarini
orijinal konumunda modil Gstinde birakabilirsiniz.

(If there is no sagging in your application, leave the
angle bolts in tightened position.)

Uygulamanizda sarkma var ise M8X40 profil
civatalarini 2-3mm geri cekecek sekilde gevsetiniz.
Agci civatalarini egim farki kapanana kadar sikiniz. (
Egim kontroli igin su terazisi v.b araclar kullanabilir-
siniz.) Uygun M8X40 profil civatalarini sikiniz.

(If there is sagging in your application,loosen the
M8x40 profile bolts by 2-3mm depending on the
angle desired. Once the profile is set to the desired
position, tighten back the M8x40 angle bolts. You can
use a spirit level etc. to check the slope.)

www.armendus.com

Agi civatalar uzun mesafeli tastyici kol uygulama-
larinda olusabilecek profil sarkmalarini engellemek
icin kullanihr.

(Angle bolts are used to prevent profile from sagging
due to heavy weight that might occur in long length
profile applications)

J8.4 (x4)
M8 x40 (x4)

Dikkat: Modilin sag sol dénUslerini M6X10 civata ile
sinirlandirabilirsiniz. Modil Uzerinde esit araliklarla
sekiz adet delik bulunmaktadir. Dénis sinirlarini
istege bagl olarak 2 adet civata ile de yapabilirsiniz.

(Attention:

You can limit the right-left rotations of the module with
M6X10 bolts. There are eight holes at equal infervals
on the module. You can optionally set the rotation
limits with two bolts. )

D6nuUs Sinirlama Duvari
(Rotation limit wall)



Kablo koruma plastiklerini gérseldeki gibi
yerlestiriniz.

(Place the cable protection plastics as shown in
the picture)

Kapaklari ve civatalan goérselde ki gibi konum-
landinp montaji yapiniz.

(Position and assemble the covers and bolts as shown in
picture)

M4 x 8 (x2)

www.armendus.com

Sari renkli banti gikariniz. Yapigkan yizeyi iceri
gelecek sekilde contayi yerlestiriniz.

(Remove the yellow tape. Place the gasket with the adhesive
surface inside)

Dikkat: Givenli bir konfigirasyon icin topraklama
baglantisini kurmayi unutmayiniz.

Caution: Do not forget to fix the grounding for a safe
connection.

M6 x 10 (x1)



Sari renkli banti ¢ikariniz. Yapigkan yizeyi iceri Siyah plastik koruma kapaklarini M8 Zemin baglanti
gelecek sekilde contayi yerlestiriniz. civatalarn Gzerine takiniz.

M8 Zemin baglanti civatalar kutu icerigine dahil
(Remove the yellow tape. Place the gasket with the adhesive degildir
surface inside)

(Place the black covers on top of the M8 bolt head. (M8 bolts
are not included in the box)

M8x 4 (x4)

Montaj icin gereken civata baglantilar ve kablo gegis
delik dl¢ileri.

( Bolt connection holes and cable hole dimensions on the
panel if required for assembly )

144.00

www.armendus.com




